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COMMERCE
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. GNP at market prices — Indirect taxes + subsidies is referred to as :
(1) GNP at factor cost (2) GDP at factor cost
(3) NNP at factor cost (4) NDP at factor cost
2.  EDI system got legal recognition under which one of the following Acts ?
(1)  Electronics Act, 1996 (2) Right to Data Act, 1998
(3) DGFT Act, 1999 (4) Information Technology Act, 2000
3.  Following statements are related to futures contracts. Choose the statements that are not
true :

(a) Purchase of a futures contract is called short position.

(b)  Currency futures are traded on an exchange in standardised form and in fixed quantity.
(c) Default risk in futures contract is high compared to forward contract.

Codes :

(1) only (a)and (b) (2) only(a)and (c) (3) (a), (b)and (c) (4) only (b)

4.  From the following, identify the trading blocks in the world and choose the correct code :
(a) European Union
(b) North American Free Trade Agreements
(c) South Asian Association of Regional Co-operation
(d) Central American Common Market

(e) Central African Customs Union

Codes :
(1) (@), (b) and (c) (2) (@), (b), (c) and (d)
3) (@), (®), (0) (d) and (e) (4) (a), (b) and (e)
voss [ HIHINTRMIN :
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T
g9quT - 111

o 30 YU B UeET (75) 9g-faseuta UeH ¥ 1 UE U & o1 (2) of €1 |t yv e 2

1.

TSR hIHd TS T Y - TTET hl + FloTSis T Gad § :

(1)  ScEH AT WS T bt (2) SCUEH AT WS S W
(3) IURA AN W TF TH °i (4) 3cIRH ARG W TA €
2. %€l E yunel #I St g frefafed # @ few sifufem & erata fieft €2
(1) sAwIe SAfafeE, 1996 (2) TR 1 AfuER AfufTem, 1998
(3) <t st ww 9 erfufm, 1999 (4) I TR AfufTEE, 2000
3. frfafed weml @1 dey wed ot @ %1 3wl s g s a8 1@ ©
(a) el HfagTedl 1 Tl Fwean! © STeushias Rl
(b) e R w1 AR faftaa asied & A 7 o fon s g
(c) et e & < Sifgw i dure o Fiaer @ eifers gt 71
E TR
(1) 9 (@) R () (2) F9A(a) I () (B) (), (b) FR() (4) F (b)
4. Trefafed o 9 fava & AaReE @i F1 T@A 3R W&l Fe ol AT :
(@) g frr
(b) S TR Tds AR qHEA
(c) &iTT Hedi i Ifaont TRmee Heen
(d) FH=EF TR AW AR
(e) HEA ST HEH (T
%<
1) (@, (b) R () @ (@ b) (© 3R (d)
(3) (@, ®), (), (d) () @) (@), (b) ¥ (e)
rosss [ AT IMINANI ;
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5.  Match the items of List - I with items of List - II and choose the correct code :
List - I List - II
(a) Carroll Model
(b)  Corlett - Hague Rule
(c) Hecksher Ohlin Theorem
(d) Knut Wick sell’s Theory
Codes :

@@ () (9 (d)

i)  International trade
ii) Interest rate
iii) Principles of taxation

iv) Social responsibility of business

D) Gv) () @) ()
(2) @) @@ @ ()
G) @) @ G ()
@) @) (@) @ ()

6.  Labour Rate of Pay Variance can be calculated by which one of the following equations ?
(1) Budgeted Labour Costs — Actual Labour Costs
2)
(3) (Standard Wage Rate — Actual Wage Rate) X Actual Hours Worked
4)

(Standard Hours — Actual Hours) X Actual Wage Rate

(Standard Wage Rate — Actual Wage Rate) X Standard Hours Worked

7. Given :

Margin of Safety % 80,000

Profit % 20,000

Sales < 3,00,000

What is the amount of Fixed Cost ?

(1) < 1,00,000 (2) X 75,000 (3) X 55,000 (4) X 20,000

8.  Preparation of consolidated statement of accounts as per AS - 21 is :
(1)  Optional
(2)  Mandatory for Private Ltd. Companies
(3) Mandatory for Listed Companies

Mandatory for all Companies

pos HII“II!H\IIHII\IHI\IHIIIH||||||||||IIHIIIH\I!IHI\I!HII\ :
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5.  gEl- [ =S ol geit - 111 <isi 9 sy o) 9@ %2 & 9T :

A - 1 T - 11

(a) HA HiEA (i) ST AR
(b) Wi &1 fram (i) =S R
(c) THIR siefed = (iii) M F fag
d) e fas =1 fawt fagm (iv) SR & HHISe STRaT I
%<

@@ (b (o) (d)
1) Gv) @) @ ()
(2 ) @) @) )
G) W) @ @) @)
(4) (@) @) @) (@)

6. o9 < fa=runy w1 afierem fefafed § 9 feg g 9 foan s gwar g ?

(1) 99 | fgiRa 99 armd — ardfas 99 ArTd

(2) (9T E—ATEdfae ®<) x AT HSIGH ANTd
(3) (AME TSGH S —ARfa® TSg §3) X Adfoah & Ee
(4) (AE TNGH S Ardfa® HSg §Y) x HH & Ee
7. Ucd:
&t 3Uid Z80,000
oY < 20,000
forsmt % 3,00,000
T AT T O SR g ?
(1) ¥ 1,00,000 2) 75,000 (3) ¥ 55,000 (4) T 20,000

8. TTH-21 % ITUR THIHd @ faawor TR L1 Ban &
(1) Shfcas
2)  wrzae fafafeg wwafEr & fag sfer
() YEas wHE & fau sifEr
(4) 9t FwEfET % fag stfam

g T

6,
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9.  Which one of the following is not true of cash Budget ?

(1) The shortage or excess of cash would appear in a particular period.
(2) All inflows would arise before outflows for those periods.

(3)  Only revenue nature cash flows are shown.

(4) Proceeds from issue of share capital is shown as an inflow.

10. Study the following transactions :

(a) Raising of short term loans

(b) Goods purchased for cash

(c) Payment of bonus in the form of shares
(d) Issue of shares in lieu of raw materials
Flow of funds is :

1) (@), ®), (©) and (d)

(2)  (b), (©) and (d)

(3) (0 and (d)

(4) Only (d)

11. When a consumer increases units of X - commodity by giving up some units of Y- commodity
and even to attain the same level of satisfaction, the marginal rate of substitution, will be
calculated by :

(1) Change in X - Commodity divided by change in Y - Commodity
(2) Change in X - Commodity divided by marginal utility of Y - Commodity
(3) Change in Y - Commodity divided by change in X - Commodity
(4) Change in Y - Commodity divided by marginal utility of X - Commodity
12. The following is the demand function in the small market :
Q=50-=5P
Where “Q" denotes quantity in physical units and ‘P’ denotes price of the commodity. At
price X 5, the point price elasticity of demand would be :
(1) Zero (2) Equal to unity
(3) Highly elastic (4) Highly inelastic
voors | HNRUN AN ;
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e o1 & ey § feAfafead § 9 SiF o1 98l T8 § 2

(1)  AFS T TS e e fohat srafy-faga & geian smem
(2) erafu-for o |t sTrereni I Serenl | Yo fo@reran ST |
(3) HIA AT YGFd o Uhe YaTE i & ST Sl € |

(4) o9 St & T 6t wifqdl 1 STae & €9 H 9T S R |
frefafad d9-37 &1 stema Y

(a) STTU-hIfcTeh 0T I Tl

(b) TSI ST ARSI Pl BT

() I F &9 H Y HT TR

(d) =d A S o WA SR AT

faferrt =61 yame &

1) @), () (© R (@

@ () (© R (d)

() (© @
(4) F94 (d)

el IS SUHIETY - TE HI HIqTT 3HTEA! 1 BTed gU X - I FI shEal § gig Ha1 ¢ 3R 37 f
ot 3ot € wafte T A 2, A TR %) T < F TR FR gR1 S

) X - I%g H 9REdd ®Y - a%g | aiEdd § 96 <9 W
(2) X - a% | 9fiEdd w1y - 9% Hi GHd ST ¥ 96 o W
) Y - % ® 9REdd & X - a%g H 9REdd ¥ 96 99 W

) Y - &g H UREds 1 X - 9% i Wid STt § 9m 3 W

frefafaa gHio o SR & AT 6o § -

Q=50 5P

el Q- Hfifdeh ST T AT ST § 7R P’ %] 1 Yo Sandl €1 %5 % qod R 7 i f6g 7o
qragrn =1 grh

1 I (2) THE F T

(3) STty AUl (4) STAfYSR STEqUl

g T ;
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13. Match the items of List - I with the items of List - II and find out the correct matching.

List - I List - II

Production functions Name of the shapes of returns to scale
(a) Q=102 K019 1088 (i) Constant Returns to scale
(b) Q=101 LO75 K05 (i) Diminishing Returns to scale
() Q=0.84 1.063 KO3 (iii) Increasing Returns to scale
Codes :

(@ (b (9
® @ @ ()
(2 @) (@ (i)
G) G () @)
@4 @) () ()

14. In the short-run, when a simple monopoly firm attains equilibrium and earns only normal
profit, its level of output will correspond to :

(1) Lowest average cost

(2) Average cost above optimum level of output
(3) Average cost equals marginal cost

(4) Marginal cost much below average cost

15. Which one of the following is a false statement ?

(I) Ramsey pricing rates to the methodology of pricing to situations where firms are
regulated and the maximization of allocative efficiency is the objective of pricing
together with the objective of profit - maximization.

(2) Peak-load pricing is a pricing practice where price varies with time of the day.

(3)  Value-pricing is the practice of pricing where the price is set based on its value to
the customer.

(4) Two - part tariff refers to a price structure which has two parts - a lump sum
charge and a variable charge.

16. All the properties of order, interval and zero origin are simultaneously possessed by :

(1) Nominal Data (2) Interval Data (3) Ratio Data (4) Ordinal Data

voons I RN

@
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13. et - 11 WG1 o1 Geit - 11 1 w6l o 91 e &% 3R 9é 7t o

14.

15.

T - 1 T - 11
ERICE ROk o o fremt & el & AT

(a) Q=102 K019 1088 () U9 % feer frem
(b) Q=101 LO75 K0-25 (i) M % e
(c) Q=0.84 1063 K03 (i) T F T Fem
%<

(@ (b) (9
M @ ) ()
(2 @) (@) ()
(8) () (i) (D)
“4) @ () (i)
TTUHTA H, IS T AU THITURRT BH el I Fidl ¢ 3R had qEe oty fsid &t §
T IUEA F &R 91 & qe&dr g
(1) = sfed @ |
(2) IERA % SFTIFATH TR Y 3TfF W Td ATl
(3) 3iTHd AT HHid T % FHH et § |
(4) EIHd AN T A & FHI R B

frefafad § @ SH-91 o9 Tod 82

1)

4)

TR 1 i Tl 3 uRfeefael 3q siaa et w1 s gored @ gt € s w6t
faframa fen Sa1 8 SR steed dad amed 1 Afushan R a6 o 9N &1 3qevd &iAd
e of stfurchas o S1fsfa e off 1

T YR HFa 4o Tk wiga feior yeon ® Sl fed o 999 % 9y Si9d 9 SfaT S B

o fETor siwd fufor 1 s e § SRl siwd 1 FEir Susiean o I g & SR W
o ST R

feurht yyesk &1 31 T YHR F FiAq = TTEH < 90 ¥ ¥ - T gEa gUR iR
TREAI JIR |

16. W, A IR I STTH T Gt Fawioand wek @y f=1 g enfid 2t €

g T

1)

Hichfae kel (2) AdUd STihel  (3) STIUM 3Tkel  (4) HAGDS Iihal

<
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17. Under which of the following situations, chi - square test is applicable ?

(a) testing homogenity

(b) testing goodness of fit

(c) testing equality of two sample means

(d) testing equality of two sample proportions

(e) testing independence of attributes

Codes :

(1) Only (a), (b) and (c) (2) Only (a), (b) and (e)

(3)  Only (c), (d) and (e) (4) Only (a), (c) and (e)
18. Which one of the following is not the correct statement regarding sampling distribution of

mean ?

(1) Sampling distribution of mean is normally distributed for large sized samples.

(2) Sampling distribution of mean is normally distributed for small sized samples

drawn from not normally distributed population.

(3) ‘“t’ distribution is not normally distributed.

(4) Mean of the sampling distribution of mean is equal to the parametric value of mean.
19. Consider the following statements and identify the wrong statements :

Statement -1 Accepting null hypothesis, when it is false, is called a level of

significance.
Statement - II 1—« is called power of a test.
Statement - III : Critical value of Z - static for two - tailed test at 5% level of significance
is 1.96.

Codes :

(1) Statements I, II and III

(2) Statements I and III

(3) Statements II and III

(4)- Statements I and II
20. The process of thoroughly checking the collected data to ensure optimal quality level is referred

to as:

(1) Validation (2) Editing (38) Classification  (4) Entry
g 10
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17. fr=fafes & @ fog afifafa § wE-eamr 7iem & fau w&isg 82
(a) HSITE qdero

(b) T=H ATE ftre wam

(c) < wfaeel ATeawl St AHMGT TteT

d) <1 yficel STaml ST FHHar T

e) U1 faRIvol St TocsIar sl T

E TR

(1) %9 (a), (b) 3 (0) (2) %9 (a), (b) 3 (o)

(3) %9 (o), (d) 3 (o) (4) @ (a), () R (e)

18. frefafad § @ ®H-w wum Area & yfoee! dfaae & doy & wet 78 €2
(1) Fe< TR aret gfaeet § Hefed mer o wfaest wfaawon g gfaawo S g1
(2) & SAEEN 9 €9 9 Hfgaika 7 8 79 S SRR % Uiee Rt Jre F gfaest
Hfgaor g e & wEd ® g
(3) t oo = e TE g ¥
(4) 1A 1 YfaeY WA 1 HEA SAHEA % WIEA & GHE &R

19. fr=fafEd wuni w faar i 3R 76 F29 & 929 &

HIAT-1 - IR IRSEHETTIS Hl TSR HET, 9 I TTd o, 0 58 el 1 R FHal S g |
HUA -1 :  1— o TR Vi el Sl B

HIT-TT ;5% Hgal TR W 3 F aret e & fau 7 - Rfesw o1 wifds a1 1.96 2ar § |
e

(1) HUFI, 11 3R I

(2) HYF AR
(3) @I AR I
)

(4) AR

20. T=GH OO TR AEd B & AU G TSl w1 qul S w1 Ui P FHe e E
(1) fafew=fem (2) ¥uA (3) afteRTm (4) yfafe

g T
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21. Statement - (I) : Management is the art of knowing what you want to do and then
seeing that it is done in the best and the cheapest way.

Statement - (II) :Management is the process of planning and regulating the activities
of an enterprise.

(1) Statement (I) is correct, but (II) is incorrect
(2) Statement (II) is correct, but (I) is incorrect
(3) Both the statements (I) and (II) are incorrect
(4) Both the statements (I) and (II) are correct
22. Assertion - (A) : No business runs itself, even on momentum . . . . . every business
needs repeated stimulus.
Reasoning - (R) : The management is the dynamic, life giving element in every business,

without its leadership, the resources of production remain as resources
and never become production.

(1) Assertion (A) and Reasoning (R), both are correct, and (R) is.the correct explanation
of (A).

(2) Assertion (A) and Reasoning (R), both are correct, but (R) is not the correct explanation
of (A).

(3) Assertion (A) is correct, but Reasoning (R) is incorrect.

(4) Reasoning (R) is correct, but Assertion (A) is incorrect.

23. Match the items of List - I with List - II :
List - I List - II
(a) Credit Mobilier i) Charles Babbage
(b) Charleton Twist Company ii) Henry Fayol
(c) Difference Engine iify Claud Henri Saint Simon
(d) Commentry Four Chambault

Codes :
@ () () (d)

iv) Robert Owen

1 @) @Gv) @) ()
(2) @) @ @v) (i)
©G) @ () @v) (i)
@) @@ @  @Gv) (i)

24. Find out the correct combination of statements with regards to business ethics :
(a) Business ethics is the behaviour that a business adheres to in its daily dealings.
(b).  The ethics of a particular business can be diverse.
(c) Business ethics has normative and descriptive dimensions.

(1) Only (a) and (b ) (2) Only (a) and (c)
(3) Only (b) and (c (4) All(a), (b) and (c)
voors AN IH\II\ 2
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21. ®IUT- () : T TG A HI hedl € Toh I 1 AT =ed €, T 9g <@l T g Haiad
e frqeafyargot fafe & foran s
HYT - (ID) : T TS qen et wi fRansti W fe=m w@n & ufwa 71
(1) A (1) 92 &, T (I1) TTera B |
(2) = (II) T B, TG (1) Tod B |
(3) T & FUA (I) TS (II) Terd 2 |
(4) <€ HAA (1) T () TR |

22, JAMURYT - (A) : HE H FTEE @F TE 901 Thal, I¢ 98 Go I A A F=A TR ... SHH
o 20 frafhd Sedie +1 stavarshar Tedt T
T - (R) : ¥ Y AT 1 AN T SHaeEs acd 81 9% g & I9E |
SIS o |G Hael T & © I ¢, HH Scaeeh Tal o uid |
(1) AT (A) T @k (R) IH1 &1 HE &, 7T (R), (A) FT T A @M |
(2) AHAT (A) T @ (R) I & HE &, T (A) T T8I A (R) T 3 B |
3) AMURYT (A) TR 8, W] qeh (R) T g |
(4) e (R) W2, T UK (A) TTeTd B |

23. G- [ F1I I Gl - 11 9 gAfaa S

A - 1 A - 11
(a) shfee wifaferr (i)~ = oS
(b) @eted Ifaw Hu (i) BT WA
) fewim T5H (iil) TS T He HEEA
(d) HTHS R TR (iv) e sfEa
e

(@ () (o (d)
(ii) (v) (1) ()
(i) () (@Gv) (i)
() () (Gv) (i)
() @) (v) (i)
24, U Jfdwd & gy § fAfafed § 9 9@ 9ued &1 999 i
(a) =GR fashd 98 =aer § @ e femfa & 99-37 | e s €
(b) fwe fafere sa@m w1 Sfawa fi= & gadt )

() I Sfaskar & frams iR faeRumers s 2 1
(1) e (a) 3R (b) (2) e (a) AR (o)
e (b) 3R (c) 4)  (a), (b) 3R (c) Wl

®)
vosts I[NNI
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25. Which one of the following is not correct about business ethics ?
(1) Business ethics reflects the philosophy of business.
(2) Business ethics is a form of applied ethics.
(3) Business ethics are governed by the Government Policies.
(4) Ethics are the standards which govern decisions on daily basis.
26. A marketing network consists of :
(1)  The tasks to devise marketing activities.
(2) The tasks of hiring, training and motivating employees.
(3)  The activities that help in designing and implementing the marketing programmes.
)

(4) The company and its supporting stakeholders with whom it has built mutually profitable

business relationships.

27. Target marketing involves which of the following activities ?
(a) Market positioning
(b) Market targeting
(c) Market behaviour

(d) Market segmentation

Code

(1) (a) and (b)

(2) (b) and (d)

(3) (@) (b) and (d)
4)  (b), () and (d)

28. The pricing strategy which adjusts the basic price to accommodate differences in customers,
products and locations is called :

(I) Differentiated pricing (2) Promotional pricing
(3) Geographical pricing (4) Price discounts and allowances
g 1
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25, Trefafed § 9 ®F 1 e Afdewd & g9 § 98 T8 o 7
(1) aEE ekl FaEE A H1 IRafd w3l €
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() =aEmE fqwd wERt fifadl gr mfed St §
) Afqerar 3 A § S &R emuR W it @ wfad wa ¥

HaE Afdehdl SHTERINE Afderdl &1 Th ®9 2|

(4

26. T fauu Feed ¥ wimfed €
(1) foaom fRansti 1 9 &1 wE
(2) wHEEIEN w1 aH, gfIfaa w9 oiR sifyafa w5 =1 %
(3) faum FEEE T T T A FA F gedE fHaA
)

FHIAT 3R IGF eI fedeies fSer T 38+ I iieh TveTde: SATIT{eh T4l sl TTqAT
F R

(4

27. frfafaa & | fo fwaneti =1 @fera fooom & afwfeag fHar s g2
(a) VR sTeeefifaent

(b) TSR I A&H T
(c) TSR HIER

(d) TSR fervfertento
Fe :

(1) (a) 7 (b)

(2)  (b)T=A(d)

(B)  (a), (b) 7T (d)

) (b),(c) T (d)

28. HIFA YR WA ST AR, IcUR] T T fa9g &l gHmEIta w3 & fau ga &iHd § FurErsH
W%,B"@Wa%

(1) favufea wma fruko (2) UicHTEHS Hiad fuR
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29. Horizontal marketing system comprises of :
(1) the producer, wholesaler and retailer acting in a unified system.
(2) multichannel marketing.
(3) two or more marketing channels to reach one or more customer segments.
(4) two or more unrelated companies put together resources to exploit an emerging market.
30. Match the items of List - I with the items of List - II :
List - I List - II
(a) Face-to-face interaction with (i) Sales promotion

one or more prospective purchasers

(b) Any paid form of nonpersonal (ii)  Public relations
promotion

(c) Short-term incentives to encourage (iii) Personal selling
purchase

(d) Programmes to promote company’s (iv) . Advertising
image

Codes :
@@ () (9 ()

® @) @Gv) @) 0

(2) (@) (@v) @) ()
©G) @ @ @) G
@) @) (@) @ (1)

31. Which of the following techniques for appraisal of investment proposals are based on time
value of money ?

(a)  Accounting Rate of Return
(b) Internal Rate of Return

(c) Profitability Index Method
(d)  Earnings Per Share

Codes :
(1) (a) and (b) (2)  (b) and (c) (3) (a) and (d) 4) (a), (b) and (d)
vosrs [ NMINAMAIAIAN 1 Paper
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32.  On the basis of the following information, what will be the EBIT corresponding to financial
indifference point ?

Total capital outlay ¥ 60,00,000

Financing Plans

(a) 100% Equity @ X 10/- per share

(b) Debt - equity ratio 2 : 1

Rate of interest 18% p.a., corporate tax rate 40%

(1) ¥10,00,000  (2) ¥ 12,00000  (3) T 10,80,000  (4) T 12,80,000

33.  Which one of the following assumptions is not included in the James E. Walter Valuation
model ?

(1)  All financing by retained earnings only

(2) No change in the key variables such as EPS and DPS
(3) The firm has finite life

(4)

All earnings are either distributed as dividends or invested internally immediately

34. Match the items of List - I with the items of List - II and find out the correct matching.

List - I List - II
(Formulae) (Type of leverages)
Contribution i ) )
(a) T ERIT (i)  Financial leverage
EBIT -
(b) Earnings before Tax (EBT) (i) ~Super - leverage
Contribution . .
(c) ~ EBT (iii) Operating leverage
Codes :
@ () (©
1. G GG
@ O @
@) ) @ 0
ii i iii)

@4 @@ @ (
rosss [N

i >
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32. freAfafEd ga o SR R fadiia qeey fog & &9 3 o 3115 & 91 2 2
Fo IS uRemd T 60,00,000
IENIRIEEI
(a) %10 9fd &% T I H 100 feerd Fwa
(b) 0T - FHAT UM 2 : 1
=TS 1 < 18 i i o, | & <X 40 wfaem
(1) T 10,00,000 (2) T 12,00,000 (3) ¥ 10,80,000 (4) ¥ 12,80,000

33. frefafed § @ - A= S €. deet Jedisd gfaeyl § wimfad & €2
(1) aa gfqentia el gR Syl fod-=rewen
) T SR S W T S g uiafdal § g giedy T8
() ®H = ffeed frae ®
)

[t 3rsiH1 &1 A1 A T & T H foafka #R o T € sAeen 3 qid evdfa faftae #
fean o ®

34. W -1F T H G - 1 W T e F AR T G F ForefE F

it - 1 et - 11
(97) ( ST T T&HT)
eSS
@) e ewy () foira e
g ot e &
(b) g o (2 ) (i) @AY STk
S
©  Togeey (iif) T ST
%<
(@ (b) (o)

@ ) (i) ()
(2 (@) (@) (i)
@) i) @) @)
@) ) ()

voss [ I

i)

(
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35. Statement - I: Working capital leverage measures the responsiveness of Return on Equity
for changes in current Assets.

Statement - II : When the annual demand for an item is 3200 units, unit cost I 6, inventory
carrying charges 25% p.a. and cost of one procurement I 150, the economic
ordering quantity would be 700 units.

Codes :

(1) Both statements are correct

(2) Both statements are incorrect

(3) Statement - I is correct and Statement - II is incorrect

(4) Statement - I is incorrect and Statement - II is correct

36. Match the items of List - I with the items of List - II :
List - I List - II
Conventional HRM Strategic HRM

(a) Staff specialists (i) Fast and proactive

(b) Slow and reactive (i) People and knowledge

(c) Capital and products (iii) Line managers

(d) Cost centre (iv) Investment centre

Codes

@ (b) (o (@
® G @ G (i)
(2) @) () @ o (v)
G) @) @@ @ ()
@ @O @ @) (@)
37. Which one of the following is a traditional method for selection of personnel ?

(1) Interview (2) Selection Test (3) Phrenology (4) Aptitude Test
38.. The method of training in crafts, trades and technical areas is known as :

(1) Vestibule training (2) Coaching

(3) Mentoring (4) Apprenticeship
voons 1 RN 20
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39. Behaviourally Anchored Rating Scale is a technique used for :
(1) Selection (2) Succession Planning
(3) Performance appraisal (4) Recruitment
40. Which one of the following is not a mechanism of managing stress ?
(1) Rust out (2) Cognitive therapy
(3) Job enrichment (4) Networking
41. Interest earned by a depositor against a deposit with a commercial bank for custodial
service :
(1) is a fund based income
(2) is a fee based income
(3) is a combination of fund and fee based gain
(4) is a commitment based gain
42. Match the items in List - I with the items in List - II :
List - I List - II
(a) ATM card (i) NPA
(b) Debts due for more than 30 days (ii) John Shephard Barron
(c) Micro finance (iii) State Finance Corporations Act
(d) State level finance corporations (iv) NABARD
Codes :
(@ (b) (o (d
W @) @) @ @)
@ @ @ Gv) )
@) v G @ @
@ @ O @) @)
i ||| 2
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43. Assertion (A) : A well developed money market is the basis for an effective monetary policy.
It is in the money market that the Central Bank comes into contact with the
financial sectors of the economy as a whole and it is through the liquidity in
the market that influence the cost and availability of credit.

Reasoning (R) : A well organised money market is an essential condition for the successful
operation of the Central Banking policies, and for holding the conditions of
liquidity within the bounds of what the monetary authorities consider
desirable.

(1)  (A) is true but (R) is false

(2) (R)is true but (A) is false

(3)  (A) is true and (R) offers correct explanation to (A)

(4) Both (A) and (R) are false

44. The operations of banks and financial institutions are regulated by :

(1) The RBI Act 1934 only

(2) The Banking Regulation Act 1949 only

(3) Information Technology Act 2000 only

(4) All of the above

45. To operationalise online, internet, mobile banking, debit card and credit card tools, some of

the essential ingredients are :

(1) Compliance with the Information Technology Act 2000

(2) Satellite connection

(3) Selection of a portal and server

(4) All of the above

46. Any country consistently facing balance of payment deficiency can approach :

(1) The World Bank

(2) The Smithsonian Institute

(3) IMF

(4) The IMF and the IBRD

i ||| 2
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47. Counter-trade means :
(1) A sort of bilateral trade where one set of goods is exchanged for another set of goods
and a seller provides a buyer with deliveries.
(2) A company takes full responsibility for making its goods available in the target market
by selling directly to the end-users.
(3) The companies in two separate sovereigns agree to exchange one set of goods for another
set of goods.
(4) A set of multilateral trade where one of goods and services may be exchanged for
another set of goods and services among the trading partners.
48. The floating rate system is characterised by :
(1) the market forces that determine the exchange rate between two currencies.
(2)  the central banking authorities of the two countries mutually agree upon the rate.
(3)  help realigning the par value of major currencies.
(4) the rate of exchange mutually agreed upon between IMF and its member nations.
49. A practice of selling a commodity in a foreign market at a price lower than the domestic
price; and even at equal to the cost of production to capture foreign market is known as :
(1) Gouging (2) Forging (3) © Dumping (4) Forfeiting
50. The highest percentage of export from India went to which of the following regions in
2013-14 ?
(1) OECD countries (2) USA
(3) SAARC (4) Latin America
51. Match the items of List - I with the items of List - II and select a correct code :
List - I List - II
(a) SEBI (i) ~Exchange for small companies
(b) RBI (i) Secondary market in treasury bills
(c) STCI (i) Regulation of secondary market
(d) OTCEI (iv) Ad-hoc treasury bills
Codes :
@ (b)) (o (d
O @) @ @0
@ G @) @ 0
@) ) @ @ @)
@) @ @ 0 @)
i ||| 2
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52. X Ltd. goes into liquidation and a new company Z Ltd. purchases the business of X Ltd. It is
a case of :
(1) Amalgamation (2) Absorption
(3) Internal reconstruction (4) External reconstruction
53. When the cost incurred on recruiting, training and developing the employees is considered
for determining the value of employees, it is called :
(1) The replacement cost approach (2) The historical cost approach
(3) The opportunity cost approach (4) None of the above
54. In India, NIFTY and SENSEX are calculated on the basis of :
(1) Market capitalisation (2) Paid up capital
(3) Free-float market capitalisation (4) Authorized share capital
55. Financial Instruments which are issued with detachable warrants and are redeemable after
certain period is known as :
(1) Deep Discount Bonds (2) Secured Premium Notes
(3) Bunny Bonds (4) Junk Bonds
56. Which of the following can be used by a company as communication mix to reach the target
customers ?
(a) Advertising
(b) Sales promotion
(c) Events and experiences
(d) Public relations
(e)  Direct marketing
(f)  Personal selling
Codes :
(1) (@), () (d) and (9 () (@, (), (@) and (9
()« (a),(b), (d), (¢) and (f) 4) (@) (b) (9) (d), (e) and (f)
57. In addition to motivation, learning and memory, which one of the following is included in
the main psychological processes affecting consumer behaviour ?
(1) Perception (2) Life cycle (3) Life style (4) Social class
voons 1 RN 2



52.

53.

54.

55.

56.

57.

IV' CAREERINDIA

T fafufee wet o1 faue 8 @ 3t T, % =adm %) & 78 ST He wdie odl 81 98
frg YR *T T E?

(1) wfafee ) sEE

(3) e A (4) T gAfE

FHUARE & oo FaRer § wH=E 1 i, gfner @ fasm™ W @< 1 T ard Sl wg Sl ¢
(1)  9fqET9s ArTd SUrTH (2) UfdRIiEs TN SUNTH

(3)  STIER AN IUNTH (4) W H 9w T

A H, TRl i S8 1 UM fhe YR W e § 2
(1) SR gt (2) T qSi
(3) HF-fEd AR YoilhIoT (4) wiferRa o9 YSh

fortar fafaa, f59 o1 frfom gers w0 am sifeos & @y fovan San @ wa <t w4y safa &
IYETd M €, 1 el S |

(1) < fewnee ois ) fowine dfem Hew
(3) o wE (4) S Eie

frefafad § ¥ T wT Aferd Teehl d% Tga & e fohe wowor fae o1 S st © 2
(a) fo=mam

b) fowa Haga

c) THNIE TH v

d) 9 9w

(e) & faqumA

() afxew foma

%<

1
3

(
(
(

(a), (b), (d) 3R (f) 2) (@), (), (e) AR (f)
(

1) ,
(3) (@), (b), (), (&) R () @ @, () (© (), () 3R ()

2AfuR, A T TR vifea & stfaftea frefafeaa § 9 feds gamest Syl sHaer & gafad
FH I YA A Ffshan | wnfeet foman s § 2

(1) @y 2) Sfed-=eh (3) e deft (4) SRR o

(
g T 2



IV' CAREERINDIA

58. Match the items of List - I with the items of List - II :
List - I List - II

(a) Geographic Segmentation (i) Gender, income, religion

(b) Demographic Segmentation (i) Knowledge, attitude, response

(c) Psychographic Segmentation (iii) Regions, cities, neighbourhoods

(d) Behavioural Segmentation (iv) Lifestyle, personality traits, values

Codes :

@@ () (9 ()

1) @ v ) 6

@ @ Gv) @ i)

@) v ) () G

@ @) O @ )

59. Which one of the following is not a stage in the product life cycle ?
(1) Introduction (2) Growth (3) Equilibrium (4) Decline
60. Which one of the following is correct statement in respect of co-branding ?

(1) Co-branding is an umbrella branding of goods of a company.

(2) In co-branding, two or more well-known existing brands are combined into a joint

product.

(3) Co-branding is the process of combining two brands for promoting brand equity.

(4) All of the above

61. Which one of the following is not a major punishment ?
(1) Withholding of increments (2) Demotion
(3) Transfer (4) Suspension
62. Assertion (A) : Job evaluation is essentially a job rating process, not unlike the rating of
employees.

Reasoning (R): Job evaluation is a practice which seeks to provide a degree of objectivity in
measuring the comparative value of jobs within an organisation and among
similar organisations.

(1) Both Assertion (A) and Reasoning (R) are correct

(2) Both Assertion (A) and Reasoning (R) are incorrect

(3) Assertion (A) is correct, but Reasoning (R) is incorrect

(4) Reasoning (R) is correct, but Assertion (A) is incorrect
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63. Identify the correct combinations from the following :

. Training and Development .
Skills Methods Target Trainees

(@) |Knowledge Deliberation /Lecture Managerial

(b)  [Multi-skills Vestibule training Operative

(c) |Decision-making skills Management game Managerial

(d) |Behavioural skills Sensitivity training Supervisory
Codes :
(1) (@), (b) and (c) (2) (@) (c) and (d)
(3)  (b), () and (d) (4)  (a) (b) and (d)

64. Which among the following are not part of staffing process ?

(a) Human Resource Planning (b) Recruitment

(c) Selection (d) Induction and Orientation
(e) Training and Development (f) Performance Appraisal
(g) Transfers (h) Separations

Codes :

@) (e) (), (g) and (h) (2) (g) and (h)

(3) (f) and (h) (4) None of the above

voons 1 RN 2



63. TrAfafEd T=ai ¥ 9 9@ I9=F &1 98 ST
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IV wisterut i faenra farfir wfera ufvremedt
(a) Bl AT/ AT EELEIR]
(b) ERReaN Afcga gfner PEIGEI:ED
() o o &1 SR EECERIL] e eeh1d
d) TR HRTA ot wfgreTor EECE T

@) (), (o) ¥R (d)

4 (a), (b) 3 (d)

64. frefafga # @ &7 Wik gfFra & AT TE § ?

(a) ¥ME GEEA fEsE

(3) (T (h)

g T

(d)

(b)

(f)  oaTeT i

(h) 9¥% fowman ST

2 (& (h

(4) ST A q w7

ST AT AT
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65. Match the items of List - I with List - II :
List - I List - II

(a) INTUC i 1920

(b) AITUC (i) 1947

(c) CITU (iii) 1955

(d) BMS iv) 1970

Codes

@@ () (9 ()

O O @) G @)

@ @) O Gv (i

@) (@) O G @)

@) @ O ) @

66. Assertion (A) : Amended Patent Act, in compliance with WTO, provides for grant of
product patent as well as a process patent for a period of 20 years from the
date of application.

Reasoning (R) : Under the Act, patent may be granted to an invention which means a new
product or process involving an inventive step and capable of industrial
application, a technical advance over existing knowledge.

Codes :

(1) Both (A) and (R) are true but (R), is not correct explanation to (A).

(2)  (A) is false but (R) is correct.

(3) Both (A) and (R) are true and (R), is correct explanation to (A).

(4) (A) is correct but (R)is false.

67. Which of the following have been recognised under the intellectual property eligible for

creation of rights as per WTO mandate ?

(a) Computer software, music disc, performing art

(b) Geographical indicator

(c) Global positioning system

(d) Journals, books, seeds, design, brand

Codes :

(1) (), (b) and () () () (c) and (a)

(3) (@), (b) and (d) (4) (@) (a) and (b)

g ’



65.

66.

67.

pos [l

T - 1 1 egatl 1 gt - 11§ ey

T - 1 T - 11
(a) 3= () 1920
(b) TIH (i) 1947
(c) ¥R (i) 1955
(d stTHT™ (iv) 1970
E TR

(@ () (@ (@
» @ @) @) Q)
2 G) (@@ (@v) (i)
G) G (@) @) ()
(4) @) (@) (v) (i)
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AURYT (A) : T & ST & TG § Wy Gee SAfuftam Aeed &1 arki@ 9 20 9 &t
s1afy a% & fou fret axg 1 9 & WU-T1 TH fshan e off YeM it |
T (R) : 39 ffEm & AT U TR Stfshi i U geM fowman S Hehal §, S U T8
T AT Fiha1 I TiHS a1 € SR S siienfies Sw=m § gam ¢ iR 78 adam

IH % T Tk dehieh] ST R

1)
2)  (A) 7T B, Afed (R) & 2
3)  (A) R (R) I T T R (R) (A) FT Tt =08 7
4) (A) T g, Afed (R) Tera 2

(A) 3R (R) ST TE €, AfhA (R) (A) 1 T =me e § |

o] & SN & MUSH % ATUR Slifgsh WSl & 1A fusri & gor & o ffafed # 9 f&a

TS /AT TR ?

(a) TR RGN, e fetn, T Fwa
(b)  siiferss Hohds

(c) ftess srafeerd yore

(d) UfIRTE, gEdes, S, eifehe, e

W:
1) (), (b) 3R () @) (d), (0) ¥R (a)
3) (), (b) &R (d) 4)  (c), (a) ¥R (b)

NN .
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68. NAFTA came into force from January, 1994 embracing :

1)
2)
®)
4)

The USA, Canada, Cuba, Trinidad and Tobago
The USA, Canada, Mexico

Cuba, Mexico, USA, Havana

Trinidad, The USA, Mexico

69. A common market is one where :

@)
2)

®)
4)

all the trading nations agree commonly to levy a common and uniform tariff rate for all
goods.

all the trading nations agree commonly to rationalise tariff and non-tariff barriers
mutually to promote intra-region trade.

there is a customs union along with free intra - union movement of factors of production.

there is an economic union along with free intra-union movement of residents.

70. The Maastricht Treaty of February, 1992 renamed the European Community (EC) as

1)
(2)
®)
4)

the European Union (EU)
the European Economic Union (EEU)
the European Monetary Union (EMU)

the European Economic Community (EEC)

71. In which of the following cases, Assessing officer has the discretion to assess the income of
the previous year in the previous year or in the subsequent assessment year ?

1)
(2)

®)
4)

Shipping business of non-residents

Association of Persons (AOP) or Body of Individuals (BOI) formed for a particular
event or purpose

Assessment of persons likely to transfer property to avoid tax

Discontinued business

72. Rental income received by a foreign individual, from another foreign individual, in respect of
the property situated in Delhi is taxable in the hands of :

1)
2)
(3)

post HII“II!H\IIHII\IHI\I“

Resident and Ordinarily Resident (OR) only

Ordinarily Resident (OR) and Not Ordinarily Resident (NOR) only

Non Resident (NR) only

Ordinarily Resident (OR), Not Ordinarily Resident (NOR) and Non Resident (NR)

AT

w
(=)}
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69.

70.

71.

72.
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T T UH 3 T (ATRT) S, 1994 9 At § e, fad fefafed < wibta ¢ ¢

@)
(2)
®)
4)

Y TH T, TS, a1, ffrers SR e
9 TE T, el Uit

I, Aferrhl, 9 TH T, T
fafrere, 7 w8 u, Aferrshi

T G TR o€ &, ST

1)
2)

®)
4)

it AR 9 TYH T F TGS R FH Td THHAHAN Yok T & e Jeqd 8 €
[off AT T 27d: & AR Fl 96 & o TRERe €9 & Yok @ (:3ch =eaqm™ i
R W T F o e A 2

SIS o WL o1 @™ § o Heer gl € U1 Tk HiHges 99 |

franfaai & g SfaR-T Gae & WY T Mol 95 B

HRE, 1992 F1 Hifegw |t % gR1 AT TEE (35 #1 A seawt Mefafead § § #n w@ fea

T ?
@

(2)
®)
)

T A i (39)

T A gHAhE g (52 9)
T A Al gfa (31w )

T A g HHE (22 )

frefafea § 9@ fog gma § w2 fufto sifuer o1 foas ® T a8 a9 o9 =61 o 1 7 o9 &
YT ITY 3T FX R a9 # R & fog fuifa w2

1)
(2)

®)

4)

- smanfaal & e FRER|

THITITEE % T (T 3 °) 31ere Sl oM sfesgsiard (&t 31 o1g) foent fafor foredt
e = Steren g & fore gt =

3 =afaaal &1 X AU {59 w5 R s=m F fau oo gt # swidaid S e &
e ®)

S FagY

T foesht s i o faeeh wfad faoelt feo @t & fod gR1 29 ol 1™ el o arg Bt 2

@)
(2)
(3)

Framet s wremor framet (o7 31R) o=

TR femEt (37 R) SR TR farh (W9 87 o) 9=
Afart (TF 3R) AT

HreRe fardt (37 31R) Srarre fearEt (T 3f 31R) SR iftert (TH ITR)

oot ||||||!|||!|I\H||\|H\“||\||H|\H|IIHII|||||||||||| .
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73.  Which of the following income is not chargeable under the head “income from business and
profession” ?

(1) Profits and Gains carried on by an assessee during the previous year.

(2) Income derived by a trade professional or similar association from specific services
performed for its members.

(3) Income from the activity of owning or owning and maintaining race horses.

(4) Salary received by a partner of a firm from the same firm.

74. Mr. A earned a capital gain of I 100 lakhs on 31-2-2014 from the sale of a long term capital
asset (land) within the limits of Jaipur corporation. If he invests ¥ 60 lakhs, out of
% 100 lakhs, in Rural Electricity Corporation Bonds approved under Sec. 54 EC in 20-2-2014,
what is the amount of exemption he can claim under Sec. 54 EC of Income Tax Act for the
AY 2014-15 ?

(1) R 60 lakhs (2) X 50 lakhs (3) X 100 lakhs (4) % 30 lakhs

75. Under which of the following situations, the Appellate Tribunal can rectify the mistake in
the order passed by it under Sec 254 (2) of Income Tax Act ?

(a) If subsequent decision of the Supreme Court/High Court is available on the subject
after the Appellate Tribunal’s order

(b) If an assessee apply for rectification of the Tribunal’s order by raising fresh grounds
before the Tribunal

(c) If the omission or mistake is on the part of Appellate Tribunal

(d) If the order is passed by the Appellate Tribunal under an erroneous impression of fact
or law

Codes :

(1) (a), (b) and (c)

(2)  (b), (¢) and (d)

(3)  (a) (c) and (d)

(4) only (c) and (d)

-00o0-
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73. fr=fafad § 9 =F @ 9 R 9en 991 9 g’ & 3ud & T YR el ¢ 2
(1)  H-Trifedt R Taad § ot & S T ey SR witdEi |

(2) T FHRER FHET sToan T8 & fhet geen g’y 79w wewi o ufa forei fafere Saneii & fau
YT 3774 |

(3) W-HE % ISl % A e AT ITh W AR @I H & fohan | T Arelt T |
(4) fordlt wH o 9FIGR ®I 39 ®H | T amen o |

74. oI T 31-2-2014 1 AR 7 1 afd o § feom ot ufmmata (9fF) #5199 T 100 TRI
JrefshTel ISt @y eifSta fran) afs 9 3100 o B W T 60 A % U ot R ate, S
fei 20-2-2014 1 54 % T FT ¥R & 31 Wipd €, TS oIdl €, T8 a9 2014-15 & T ma
SAfufrem 1 o7 54 € T % 1 fore Tf W g2 &1 e A9 A kT 2

1) T 60wmE @) %50 @ (3) %100 =@ (4) %30 @@

75. Tr=fatad ®§ & foe aRREafai 5 ordiea wieno), ST SAfuafem ol 91’1 254 (2) o ST 9
3T &1 9 S GUR X Tkl © ?
(a) A ST WY & ST < o 9= Sedad ~ATaTerd /Ied <A & 361 fawd | &g

aTgedl o Suered § |

(b) AfE FE F-TAoife TC FROT FT IS T Y& H IR FH FT ST TR T e
FHIAT T

() A & SAyan g Tdicid ferehie & SR F g8 &

() e srfictta witeto gr1 ot qea styan fafy & ora goma & s1efe e fean o 2

%<

@)
(2)
®)
4)

-00o0-
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